TABELA ROBOT ZIEMNYCH

, : Srednia s zuzycie nadmiar
powierzchnia ) , objetosc¢ )
powierzchnia | odle- na robét
km [m?] [m?] glosé [m?] miejscu [m?]
w N w N w N m’ | W N
0+000,00 8,87 0,00
7,04 [ 0,00 | 1,80 | 12,66 | 0,00 | 0,00 | 12,66 | 0,00
0+001,80 5,20 0,00
3,561 | 0,00 | 490 | 17,20 | 0,00 | 0,00 | 17,20 | 0,00
0+006,70 1,82 0,00
1,67 | 0,00 | 1,80 | 3,01 | 0,00 | 0,00 | 3,01 | 0,00
0+008,50 1,52 0,00
1,73 | 0,00 | 11,50 | 19,84 | 0,00 | 0,00 | 19,84 | 0,00
0+020,00 1,93 0,00
1,97 | 0,00 | 15,00 | 29,55 | 0,00 | 0,00 | 29,55 | 0,00
0+035,00 2,01 0,00
2,24 | 0,00 | 10,00 | 22,35 | 0,00 | 0,00 | 22,35 | 0,00
0+045,00 2,46 0,00
RAZEM 45,00 | 104,61 0,00 | 0,00 |104,61| 0,00




